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1 Compiete thﬂ)rog o 66 For #2-#7, are the two triapgles congruent? If so, which postulate, SSS or SAS, is being used?
Given: JK=IM , JM =LK A §
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To prove triangles are congruent, you must find corresponding parts that match up.

. e
Triangle Congruence Theorems: -
W fﬁ\\ /{O\é\ # SSS Congruence: When proving triangles congruent with SSS, you must find§ =Ssides.
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% SAS Congruence: When proving t[l ngles congruent with fAS you must find ; = sides and 11.If two angles of one triangle are congruent to two angles of another triangle, what must

= angle. You must have included be true about the third an les of the triangles? o you know?
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X< 12. REINFORCE Suppo DOG = ACAT. If m«D = 30° and mAA , find m£T. Explain your
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13.Fill in the blanks to complete the proof of the Hypotenuse-Leg conjecture. 2~ 2- 5 14: S?'t';‘Peli;en;?:esnutrtrg::él;agtlaetg::nwt:yufslgl;z‘zel: nesavfgrbcl'algig;f} ;:,'E :g'rrect abbreviation

P [sAA [ AsA [ sas [ sss | HL |

If three sides of one triangle are congruent
7 v, to three sides of another triangle, then the
/ ! / N triangles are congruent.
T T

If two sides and the included angle of one
v, triangle are congruent to two sides and the
A : included angle of another triangle, then the

fsubstitution ( \/(Gk)z - (GE)* SSS PH - PY % b triangles are congruent.

included side of another triangle, then the

triangles are congruent.

\ GL - GE \ Nqiﬁwles , \/(PH)z - (PY)* If two angles and te of one
/\gs‘ triangle are congruelt-te-eweafigles and the /?
. : N \{

T
, . ;?
Etwo angles and @ nonincluded sjile of one
= (PH)2 + (PY)2 = , so HY = LE. /(\;\ ﬂ iangle are congruel ngles and a
nonincluded side of another triangle, then
Therefore, AHYP = ALEG by SS S ) the triangles are congruent.

m If the hypotenuse and a leg of one right
triangle are congruent to the hypotenuse
and the corresponding leg of another right
triangle, then the triangles are congruent.
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15. REINFORCE Consider each of the diagrams below, and decide whether you are given b. & (
enough information to determine that the triangles are congruent. If so, write the -—r‘ LZ —l
congruence statement and the congruent triangle postulate you would use. If not, | A
explain why not and draw a counterexample.
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